%A EERS —R

A EHE

5 34 flitg (Bifll) : Kedh7= b
VRG]l RS E]
fili#% ftfi 4
ah % il B S FEREH B (Kg)| &fE PE ZAH

B2 3D ;5 9 1,620 | 1,376 | 1,296
E3 1A B 246 | 1,026 723 610
TEL 3] 143 972 581 202
| RKRO LD

EZ ) EE 25 2, 062 2, 002 1,728
PoYAY

EP R ITE 1 3, 240 3, 240 3, 240
HHT

e,

51 & 1| 15,120 | 15,120 | 15,120
IIREZ = 8 1, 620 1,620 1,620
ZESY TIE 15 1,674 976 626
HEY A 20 1, 080 972 864
CCH Bl 5 864 864 864
IRE

XH

NE i3 119 4,212 1, 454 360
Hd

HigE

POEE 7 19 1,134 955 756
[ EE AR D Il 128 | 1,350 983 432
=i vES 251 I, 296 1,106 756
Wbl T 105 270 196 162
[N

N T

FHLH T

SiE T 190 691 526 432
SAE

FFADD

THHNOM o 56 1, 404 1, 142 675
o REAR 10 540 540 540
E3oY I 480 1,728 806 486
HESTAH

WAEESA

EbEESA FiE 172 1,620 1,133 1, 004
RS

bbb EE I 126 1, 296 1,115 648
=558

ERDOR

WE LD iffE 27 864 864 864
EZ XS Bl 22 2,700 | 2,631 2,130
A ZIEN RIR 24 594 594 594




YHEER5 —& RS — R
Sfr 34 1H 25H filits (BfMH) : Kgd7=b

iG] FEXTER 5

fliiki:3 i

e TEEM BEKe)| FfE | PE TEEMBE K| SE | TE | KE

¥
=

(BRGS0 e 10 | 3,078 | 3,078 | 3,078

mREZ

AR TV

RS T

R 2 O0 J=3r5 24 3, 564 2,678 2, 257

AR X X O

RN

MR

e

ER S AT

(R = X

wERa—NA A FDfhn: 20 626 626 626




o 3 4R

4 HEERG R

B &t

fifiks (Bt

 Kedp7=b

FH

ik

BhE

e

¥
T

& (Keg)

i

e

HiE

VY

S

Wb LET

7=35<0

Vo LILF

25O F

LL®b

RIET 58

FondH

HIAE

il

5, 400

5, 400

5,400

BALXT

RS

HEY

EX R

Bz

BRICCA

A

RN

EYE-YTAYR

EEE3S

LUHAEE

BN

Wi

E3aN

20

2,052

1,580

1,242

A CEE

Wb Z

BEET

R

TREAE

HrET




